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Section A {10 marks)

Questions 1 to 5.carry 2 marks each.
For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4) and write your choice in the bracket ( ) provided.

1. 5083 is the same as

(1) 50+8+3

(2) 500+80+3

(3) 5000+ 80+3

(4) 5000 + 800 + 3 ( )

2. Find the value of 8000 — 615.

(1) 7384
(2) 7385
(3) 7495
(4) 8615 ( )




Find the product of 234 and 9.

(1)
(2)
(3)
(4)

26

243

1876

2106 ( )

The picture shows the amount of money that Alex has.
He wants to buy a toy which costs $15.

How much more money does Alex need?

A box can bold 6 pencils, Jenny has 91 pencils.

What is the least number of such boxes she needs to put all fhe pencils?

(1N
(2)
&)
(4)

15
16
85
97 ( )
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Section B (10 marks)

Questions 6 to 10 carry 2 marks each.

Show your working clearly and write your answers in the spaces provided.

For questions which require units, give your answers in the units stated.

6. Arrange the numbers below in increasing order.

3786 , 3687 , 3768

Ans: ;

7. Find thesum of 605 and 2899.

Ans:

8. What is the quotient when 106 is divided by 97

Ans:




9. Complete the number pattern below.
450 , 455 |, 453 |, 458 , 456 , 461 , 459 , 464 |,

Ans:

10.  Leon collected 196 game cards.
He collected 7 times as many game cards as Jim.

How many game cards did Jim collect?

Ans:




Section C (10 marks)

Questions 11 and 12 carry 3 marks each,

Question 13 carries 4 marks.

Show your working clearly and write your answers in the spaces provided. The number of
marks available is shown in brackets [ ] at the end of each question or part-question.

41.  Mrs Lee bought a dress for $39.90 and a pair of shoes for $58.50.
She had $24.10 left.

(a) How much did the dress and shoes cost?

Ans: (a) (11

(b)  How much money did Mrs Lee have at first?

Ans: (b) [2]




12.  Esther and Kelly have 4879 stickers altogether.
Esther has 1243 stickers.
How many more stickers does Kelly bave than Esther?

Ans; [3]
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13.  Eugene did a Math quiz. He answered 26 questions correctly.
The number of questions he answered correctly was 2 times the number of

questions he answered incorrectly.

(8)  What was the total number of questions that he answered incorrectly?

Ans: (a) (2]

(b)  For each question answered correctly, Eugene was awarded 8 points.
How many points did Eugene score?

Ans: (b) (2]

z Remember to check your work!

~ End of Paper ~




SCHOOL : MAHA BODHI SCHOOL

LEVEL : PRIMARY 3
SUBJECT :  MATH
TERM : 2024 WA1
CONTACT :
Q1) |3
Q2) |2
Q3) |4
Q4) |1
Q5) |2
Q6) | 3687, 3768, 3786
Q7) | 3504
Qs) | 11
Q9) | 462
Q10) | 196 + 7 = 28
Q11) | )$39.90 = $58.50 = $98.40
b)$98.40 + $24.10 = $122.50
Q12) | 4879 — 1243 = 3636
3636 — 1243 = 2393
Q13) |a)26 2 =13
b)26 x 8 = 208

Pgl


https://freetestpaper.com/

